® @ ® ® ®

a, AN 12250 ' a
125 SR 3000 a2 3000 | a2 3000 SR 3000 125
BAE D AT TR TN RER ‘ T URTER TR R
Xab dIBROHIBTT 5 72935 130 2870 13,0 72870 130 72935
(a=78,b=271c=134)
< d g
~ - I 1 R 1 N St
@ & X +%e *x .
A 7on-Aur/ | 7
= | (207 7 | x
& ; ; 2o
. | H?:lyf J— K47 | R §
k225 mbat ks 15 0 o
- T AAJ: [}A' 2
. % 5’57 Xi < 1—7
! 52 | P
= | | NG e
3 ! ! 4 bl
[N} o
o | | g
i 185: 5880 12,0 5880 :185 N
| o qe p | | 2
@ i i C N i X =
m O I S - - - -\ ™ — V1 -07
[@N) ¥ )
T L =)= L—= L= L= 0
225 2775 3000 225 2775 3000
125 P UA=ER 6000 7 U2 6000 125 X FUR—RIMIBETY

( BB S=1/20

390

o ’ L—JvEm
LN
D10@200(XY#t) Fon-mmr 4 8
2-D13 2ar@I ZESE 3 = :
0 VEL VFL — SRS -
(= J_ o — N [QN]
<l ¥al = | vl
[@)
m

S N\ % ‘ 100 2675 [0
N ¢ Moy H—L— )R E
2-D13 AT po@200 \anausnny A\ sasssnsunsun X%g%?i,é’ VERE 3000 |

06 QO

ERRIFEELANTZS0

8 [(AOEK&Eav S —HMt L] v —L— LB MEAfE]
K7 ON—RIDOT A« 12D NT vy RS> S=1/80
- M12X 240~300 = e
X
o W1/2X 240~300 \ | #ig#  SG—358T-GPB—4
W1/22 AT 2B NIVE TR 2E Dy D+ —WETFy b 2B CHBLI RS0, KIS M (4. MOy (= &t f- B L TS0,

(nip 2% Fif 22 4 1= P

=
A



NIRRT BIICIR DAL I5A > %E"ﬁ*gé%;%%gcc

{AHRET B1DOmmEA>
BANOMAEAEB ST D BERRY B, 08
Dby I RTFOBTRATIAN LT T F0, =
(BB — VAR RSA KT BAICHEETT, ) X<;/
3 \
125 60, 115 100 2675 100 \2890 120 . 115 , 100 2675 100 2890 BATE
4 : T
. N - = CT T/ B
TN TN _i ‘ S—— = ‘ ‘ \‘ ‘ — | } | i'lL:T
! ! I:I‘ q— ! s o
A% R 3 1 S RO  ELEL |
= — x L 4
(:);E;,ﬁ_’; ! 8 = g § 7%7 L=l /E § —H ﬁ{}l : 75
SV = % | DL
= 130 /1| 10
I I
BN
MI2Z o A—HRIbbITHtL LLREUEUDR
’\"Zjl./“'h')‘Qf:%d)lE) Tj'fzt'.tz:i@i?'o
3000 3000 3000 3000
N—XTU—bh &

T OA—RILE OBER

CRNAIZRITIBED AL IHE

o
65,100 2675 100 2840 220 65, 100 2675 100 2840 =
KGRA B fEﬁ
g g» DRI R VEYIN ' Vi ? ?
vaewv*wﬁt\ s - J 7 UA—ARIVE
T o = o M120rW1/2
] 1 =] 2 = =] = =1 ; O
77774‘ ’777 777777 ——— “ "7 77777777777777777 C Tﬁiii %77 - " # "7 v ., S e — /)
@ j - — Ty PR E @ j - — LN { N-RT L hRE
o o (@)
L] S5 - ‘ & | T L 16
@*Iw Bl ol@d o X AR A At k=] i Al 2 & i i
= o ~
4 —
N - | vrvo-L—umk ARG REN $16 125U T
19335 3; 10 5 {EHE R (RS P A=KV R HEMLR
2P w SN0 BEIEIAKFIA L T ZE 0, DfeHEETEMmI D
(BEL I RASARTBZAIDEETT, ) Do2UTPZDIALDTEN
— BERNDRAKRAZ ST DEREZGT 5,
HK =3 v <HER> S=1/10
BREIETh S “BUNKA” M EFX :
ODO-XNFRZDBEDIT N IR A .

s 2% FE 3= B 1 P




